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1 R B KSCTH ! 3/ 4 35. 86 7#%  ( 0.66)
2 A% UE KSCTH /N4 2/ 4 40. 08 5f%k ( 0.74)
3 ik ME J—XAC ! 3/ 5 40. 15 5%% ( 0.69)
4 KYEE R KSCTH /N4 2/ 2 40. 30 3tk (0.79)
5 Wl FER J—ZXAC /N3 2/ 3 41. 40 4% (0.71)
6 A FH KSCTH /N3 3/ 3 42. 40 *F&) T#%  (0.74)
7 5 — 1 KSCTH /N3 2/ 5 42.96 3% (0.83)
8 KFE HFE KS C#%J X /N4 2/ 6 43. 11 % ( 0.75)
9 KB fhiE KSC#%F X /N3 1/ 5 45.18 5%k  ( 0.72)
10 FLFF Kk KS C#J X /13 1/ 3 46. 65 L#%  (0.83)
11 (g Fnze KSCTH /N3 1/ 4 48.99 2% ( 0.87)
12 FFF  #hk BEED sIN4 1/ 2 49. 92 ( 0.81)
13 ML &Ek KS C#%J X /N3 1/ 6 50. 67 ( 0.75)
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2 /I = KSCTH NS 5/ 5 34. 87 % (0.71)
3 &HH B0 KS C#%F X /N6 5/ 6 34.99 5% ( 0.70)
4 i FH R - BA KS CER)I /N5 5/ 3 35. 81 65% ( 0.68)
5 & EHR KS CERJII /N6 5/ 2 36.23 4%  (0.75)
6 R B J—ZXAC /N5 4/ 5 39. 74 3k ( 1.02)
TR I&E Bkeb /NG 4/ 4 40. 72 3% (0.83)
8 AR HEML BkED /NG 4/ 3 41. 24 2% ( 0.72)
9 Fiw K& BkED NG 3/ 2 43. 20 ( 1.02)
10 )R & KS CER)I /N5 4/ 6 44.02 *FH) ( 0.88)
11 R EXR KS CER=R)I /N5 3/ 6 45. 18 xF:i@) ( 0.81)
12 705 i KSCER /N5 4/ 2 45. 28 ( 0.51)
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2 M SR BkED 2 7/ 2 31.16 5%%  ( 0.64)
3 HR A BEED M1 7/ 3 31.86 65% ( 0.84)
4 REFT i BkLy 12 6/ 6 32.38 2%% (0.75)
5 thp FEE J—XAC ab! 7/ 6 32.46 4% (0.71)
6 fal Rk J—ZXAC ] 6/ 4 32.73 58k (0.71)
7 fEL sEE K S CER)I ==h] 6/ 3 33.52 4%%  ( 0.74)
8 [hAEZ i Bkiy ] 6/ 5 33.63 4% ( 0.77)
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